T
=1

915~1330

>

— 3

)

Y/

790
32

e ! VO

5 X ©

Ip)]

,:-‘ 225 @

ASS

75 50
<
‘Y
13| 27Vv7 SWC-635 =f>0
12| AARTvy b BS M12+70-Atwt
11| JL-%UA- | SPC:t2.0 | 37k.=fiv0O
10| Fb-AMTBEANN | S UM M10X80L« 704~ b
9| ¥+ 25— dA $65.-T35v 7
8| 7U-4847 | STK:t1,6 | #25.74f)-8F ’g% 60 UKQ
7| NO, 21847 STK:t1,6 | §320748)-8%
0| f¥=FE SUM P40 74R) -8R gAY
377
5| BEEE)IRNN | WYIH:IUT| MBX3HLeYIR:f 2 O 1 3 . 1 1 185 ’
4| No, 1847 STK t1, B 74AY-1E W - B
3| 9R=4%E SUM 0363401 74 7440 7= 1 _ .
mE ) o W74 MBX35L Y73 - = o %_%/i RJ—E /6 I:ﬁ]% :Hfl]x/)_’ _/|\

2 | AERE/ JANL | YIIF:IUT| MBX3SL-9::f |f‘_|' £ “E',| IR « AR —FaE{t + B H BHg
1] EY9-X-2 SPC:t3,0 | 74AU-2% 1}: E "
%B . _ﬁ( X = o/0] _
Sl e B @ o= a2l (& | |g NRS-1o44W




